KTIPIO A

KATOWH 1ou OPO®OY
KAIMAKA 1:100

as | _ az |
| =
| B | |
' 1
1 1
| |
|
16.77
|
———— ! ’
r T T ] PP PP 4
h
! | 73 — A : . . d
: ol | = Aoutpo i e || F—“ F_"':F"‘ —
T | . 445 md I | il
H ' b<] \\ ﬂ
H (05 \ ;
Pl 3 il i _
1 A
IR 3% Ly 0% 05 | il 9ERE
| YTrvodwpdrio | i @ ]— H e
g g 1100 231/ —a I—'rh -l 2 O
| AiGdpopo KaBioTiko/
Yrvodwpario Il \\ 2_32 rﬂzg | !l Tpamedapia f
: 11.63 m? NS S | i | 36.92m
| ] L
[ 2.40 -1
HRE wcC doro——————— - s 30
EEz e | B D - T
i N 330 0% 0, 150 8 « oss [/, om0 | ,
¥ = e 4 YTvodwpdtio
[ L i >__— o ylf I 10.39 m? i
\ I oy Beomiapio , A
— | A R DF L E= 2610 ) ) i I I -
Eicodog | [ g
== 5.40 m? | Kougiva 230/
185 | i s82m o Y omwé i ; —
3 150 |} 317 il | ?w
10 9 & ~ o0 |
1 8 N QO o
8 \ PP P IPPPP
e 12 ’ (0N
» 5 &7 ) |
- pE— wC
““' = 2 i ") 1.94me | 2 g
5 . : s || b C | i )
p P 1.A AveAkuoTripa I Trw 2;2 1 KaBIoTIKS l: H <
+3.48 (+5.05) \, b | 34.84 m? 3.20 ~
N & Faaeass) 8| LYZ A1 0N g| Eioodog | T 2.40) -
| f 155 - - @' \\ 3.15m? : i 1ced
120 |4 P
N oidfed| | S~ (T00\ // . g H
T3I ; =1.A KAigyakoaTdaoio I/ / \230/1.A AiGddpopog | I::l — | 1 E I T3
S VR N S T el O F{\ _____________ : A
| B34 35 ¥ YT T
W } i3 N~ +3.48 (+5.05)
+ ! \ el AIGSpOHOG : ! 23 I | 33 (+4.95)
Noutps [ Beomapio | N\ 7.26 m? “ g | |
2.99 Mg 34Tm 1 S [ I !
_— 165 190 (7 N 175 w1 2w
0.10[2.60) , W N | +P L o1 d2-e0}
2 Yrvodwpdio Il | |Y1'rv06wudﬂo | M= °
| 10.74 m? I || o7om O 0| kougiva 5
| | 00| g8gm|——
| YTvodwhdTio o 2
2.20 ' 14.07 m? g | || b3 F—— 3
8 i< 8 | | | b
0 N | 435 300 | 300 N2 240
. +
| [ H | ,U\ 10{2.60}
______ 1 . g N B A
______ - e — ===/ e— (1 S o
3 | A-a
? § ¢§ ! Yo owo?.eo ! g o
i H 2 2
J. J. J_ I — P— P —— P—— J- JL J.
| |
+ 1.30 Iﬁ 840 L 160 ;
! i
|¢ | L 1.60 N
i P i
; ! 05 180 + 240 + 520 | , +
1 1
| — [ |
i i | |



